13.07

a0\ P
A, L
\D
a Find F,
b Find Fy symmetry

summation rule

A, _7wD-L_4L
ST un
A, 7mD D

4

n=-L
D
0 F, F;
E, Fy, By
E?I F?Z 0
summation rule = F,+F,=1 £ F,=1-F,
D 2
]+(2L) 2Ly
Table 13.2 = S=1+ < :1+1+( j =2+4H’
)
® 52
S—|S§*—4| =
1: (RI] } S—I:SZ _4]l/z
F;= =
2 2
2440 ~[4+16H +16H" —4]"
- 2
2 2 R
2+4H’ [ 16H’ +16H" |
N 2
2 2712
2+4H —4H[1+H ]
- 2
2 2 12
=1+2H*-2H[1+H’ |
=20 +2H[1+8°]" "
F,=1-F, = :2H([1+H2] —H)
F, =F

21 23

F,, +F,, +F,; =1 = 2F,, +F,, =1

= F,=1 _2F21=1_2%F,2

= 1—2#{2H([1+H2]1/2 —H)}

=1—[1+H2]'/2+H



